SWit swH Racking System Data Sheet venizione

SOLAR WAREHOUbE

SWH DUAL RAIL CROSSBAR
Part No. MR-SW-CB-18

3/8” X 1" HEX BOLT
3/8” FLAT WASHER

(ms]

=

5/16” FLAT WASHER
5/16” EPDM GASKET

5/16” X 3-1/2” LAG BOLT

+ Dual Rail Crossbar material: 304 stainess steel
Dual Rail Crossbar weight (without hardware): 1.362 Ibs

Bolt & nut material: 304 stainless steel
+ Attach 18” Dual Rail Crossbar through 3/8” x 1” SS Hex Bolt and 3/8” flat washer
to SWH 3.5” or 5” standoff. Use included 3/8” x 7/8” SS T-bolt and 3/8” SS flange nut to mount rail.

1. 18 inches

J u 3 inches

& >
»

18 inches

9628 Valley Blvd. Rosemead, CA 91770 | Phone 626-579-3288 | info@esolarwarehouse.com



